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Prove each of the following identities.

1 sinftan @ +cosf =sect
3 cosec —sinf = cotfcosf

5 (sin# — cosec ) = sin6 + cot’d — 1

7 tan?6 + sin’6 = (sec§ 4 cos 0) (sec 0 — cos 0)

9 (sin@ + cos#) (1 — sin O cos §) = sin’ 0 + cos*0

11 cos*f) — sin*h = cos?f — sin’0

sin 8 5 1 +cosé@

13 !
1 +cosf

= 2cosect

sin 0

1 1

15 ks + )
1 +tan*@ 1+ cot?d
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tanf+cotf _ 1

17 =
secO 4 cosecd  sinf + cosf

19 /(sec?d — 1) + /(cosec?) — 1) =
21 UI;STHGESECQ—tanG
1 +sind
*93 ftan@—l—sm@ztanzg /1+sin6
cotf —cosf 1 —cosd

*25 W—wwzl—ksinﬂwsﬂ
sinf —cos 6

1

~ sinfcos

S S e

2 cosech + tan 0 sec 0 = cosec 0 sec?d
4 (sinf +cosf)’ — 1 =2sinfcosf
6 (secO+tan0)(sec —tanf) =1

8 sec’0 + cot’d = cosec’) + tan’8

10 tan*6 + tan®0 = sec*d — sec?0

12 sin@-l—cos@zl_zicosg
sin{) — cos 0
14 _MECOSG
cotd +tan@
16 l—smfﬁ»‘E 1
cosf sec B+ tan @

. 3 2
18 sec* — cosec’d EM

sin*0 cos*d
20 sin @ ,, cos 0 _ 1
V(1 +cot?) /(1 + tan0)
99 1 +sinfl +cosb A —sinf +cosf
cos - 1 —sinf
wpq _ tan’0 cot!d _ 1—2sin’fcos’f
1 +tan?0 1+4+cot?d sinfcos 0

cot’f(sech — 1) _ sec’d(1 —sin6)
l+sinf 1 -+sech
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